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Elements of upper levels of hierarchical ramified systems have the hazard 
function close to a constant, therefore lifetime of such elements is circumscribed by the 
exponential distribution. Lifetime distribution functions for elements of the output level 
are chosen in this paper because of a comparison of different types of probability 
distribution. 
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���������$����n(t)���
�������%�������������������	�����	���������������	��������	������
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λ*(t)��*������� ���� 
����	$���� �������� ����
������ P*(t)� ����	� #��� %����� ���� #����������
�	����������	�����
����	�  ∆ti = ti+1 – ti��
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Q*(t) = 1-P*(t)� �� ��#	��%����� 
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������ 	
��� ,����	$��� ��������
����
����� P*(t)� %� �
���#���% � ���� ���
���� ����	� ������
����� ������������ �
#����������
�����	 P(t)�� -��� ����� 
����	$��� ����	��� ������� a*(t��� 
����	$��� �������� �#����� λ*(t), 
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���#�����	�����	�	����������������a(t), 
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��	��������������λ(t), ������������������	 Q(t) . 
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/����������� ������� Q(t)� %� 
��������� � ������ )�� $��� τ� �
#���������� �����	� 
�
�
���� $	�
�	��
�	����
��
�&	������#��������$����t [3]. 
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�$���������������a(t),�����%�����	�� ���#�������$�����������������������	�����	#��$�%�����
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2�����	� ������� ����� �� �	�������� ���
��	� $����� �� ��� ������ ��"��� ��#������	� ���
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1�������������� %�
���������
�����������
�	$	���λt �	#��$�%��
�
�� ������������	���������
���������� #��$��� t��!����	�������)��λ —��
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�
���������������	����#����	�	� �$���������
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���� ��� ���������

��������� �
������� ������� ��	��������� �� ���������� ������"
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�
"
����
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$	�	���	
��������������������
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2�"�	�� ����
�� ���#�������$���������	����������	�%������-��#�������2���#���%�����

������������	�	������
����	�������
��������&�����β��������
���������	���#�������α . 
6���	��������-��#���������%��	���� 

tetta βα
α

α
β −−

Γ
= 1

)(
)( . 
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���#�������	���	�����%�������	����	�� #��$
�����α��!���
����
��)������������	���� ��	�	��%����������	�������
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�
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����� #������ #� �����
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�
�� � �	)
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��#�������� �
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